SIEMENS

13.12.2021 9:42:22 AM

US2:2020164-001

Model 50 repair kit 1312530-006 - washer, M3 spring lock, stainless steel 1312092-007 - screw,
M3x25, socket head cap 1291509-003 - fitting, nut, 1/16" T, Valco 2017664-003 - Model 50 3/4"

' diaphragm

List Price Show prices
Customer Price Show prices
Service & Support (Manuals, Certificates, FAQs...) Download

W b4y

LY ¥ 3
L
Cooge C".C:gc‘.? 2
Image similar

Product
Article Number (Market Facing Number)

US2:2020164-001

Product Description

Model 50 repair kit 1312530-006 - washer, M3 spring lock,
stainless steel 1312092-007 - screw, M3x25, socket head cap
1291509-003 - fitting, nut, 1/16" T, Valco 2017664-003 - Model
50 3/4" ' diaphragm

Product family

Ordering Data Overview

Product Lifecycle (PLM)

PM300:Active Product

Price data

Region Specific PriceGroup / Headquarter Price Group 824/ 824

List Price Show prices
Customer Price Show prices
Surcharge for Raw Materials None

Metal Factor None

Delivery information

Export Control Regulations

AL : N/ECCN : EAR99I

Standard lead time ex-works 1 Day/Days
Net Weight (kg) 0,062 Kg
Package size unit of measure Not available
Quantity Unit 1 Piece
Packaging Quantity 1
Additional Product Information

EAN Not available
UPC Not available
Commodity Code 84819000
LKZ_FDB/ CataloglD PA30AI-ET
Product Group 4682

Group Code R351

Country of origin

United States of America

Compliance with the substance restrictions according to RoHS
directive

Since: 15.05.2017

Product class

B: return restricted, please contact your Siemens
partner/contact

WEEE (2012/19/EU) Take-Back Obligation No

REACH Art. 33 Duty to inform according to the current list of

candidates

Classifications

Version Classification

eClass 6 27-15-06-91
eClass 71 27-15-06-91
eClass 8 27-15-06-91
eClass 9 27-15-06-91
eClass 9.1 27-15-06-91



https://mall.industry.siemens.com/mall/en/WW/Catalog/Products/10007509?activeTab=product
https://signin.siemens.com/regpublic/login.aspx?lang=en&app=MALL&ret=https%3a%2f%2fmall.industry.siemens.com%2fmall%2fen%2fWW%2fCatalog%2fProduct%2f%3fmlfb%3dUS2%3a2020164-001
https://signin.siemens.com/regpublic/login.aspx?lang=en&app=MALL&ret=https%3a%2f%2fmall.industry.siemens.com%2fmall%2fen%2fWW%2fCatalog%2fProduct%2f%3fmlfb%3dUS2%3a2020164-001
https://signin.siemens.com/regpublic/login.aspx?lang=en&app=MALL&ret=https%3a%2f%2fmall.industry.siemens.com%2fmall%2fen%2fWW%2fCatalog%2fProduct%2f%3fmlfb%3dUS2%3a2020164-001
https://signin.siemens.com/regpublic/login.aspx?lang=en&app=MALL&ret=https%3a%2f%2fmall.industry.siemens.com%2fmall%2fen%2fWW%2fCatalog%2fProduct%2f%3fmlfb%3dUS2%3a2020164-001
https://support.industry.siemens.com/cs/WW/en/ps/US2:2020164-001

